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1. The margmal propensity to consume (MPC) 15
a. the change in disposable income divided by the change in consumption
{ b) the change in consumption divided by the change in disposable income
c. total disposable income divided by total consumption
d. 1be change m disposable income minus the change i consumption
7 e, total consumption divided by total disposable income

I the government wishes to increase the level of GDP, 1t might
a. reduce taxes b. reduce the size of the budget deficit
"'fc@reduce its purchases of goods and services d. reduce transtfer payments

Y At the break-even level of income:

a. consurnption 1s equal to saving.

b. the MPC is equal to the MPS.

¢. households are borrowing more than they are saving.
d. the MFP5 1s equal to 0.

?5;1ving 1s equal to {.

4. 1f income increases by $10.000, government purchases are fixed at $1.000, investmeni spending is fixed at $2.000, and the
N marginal propensity to consume is 0.70, by how much does aggregate expenditure increase?

a. $2.000 @ $700 c. $1.000 4. $7.000 e. $1.400

In the short run,
| a. spending and income are independent of one another

b. spending depends on income and Income depends on spending
c':;? spending depends on income, but income does not depend on spending

d. spending is the only determinant of how much income an economy will produce
. Income depends on spending, but spending does not depend on income

Suppose that business firms change their plans and ncrease the total of their spending on new plant and equipment. The
basic mulitplier model would lead us to expect:

a.no change m GDP,

b. GDP to ruse but consumer spending to fall.

¢. GIDP 1o fall bul consumer spending to nse.

‘fd_ GDP and consumer spending to rise,

€. GDP to nise but consumer spending to be unaffected.

Jﬁ H the multipher equals 4 and the economy is $200 below the full employment mcome level, then

government should run a surplus. b. MPS = 25 and MPC = 75.
¢. total spending needs to be increased by $50. d. total spending needs to be increased by $200.

¢, a. and b.



#X9. Contractionary fiscal policy includes government expenditores and _ tax revenues.

% a. increasing; increasing Eﬁ increasing; decreasing
¢. decreasing: increasing d. decreasing; decreasing

. If the Central Bank sells $500,000 worth of government securities, the money supply will:
._a. expand by $500,000 b. expand by more than $500,000
g} contract by $500,000 d. contract by more than $500,000

A1. Which of the following is 2 component of M2 but not of M17
7} Savings accounts at banks b. Currency
¢. Checking accounts at banks d. Traveler’s checks

/be sale of government bonds by a Central Bank will cause:
an increase in the supply of money. b. an increase in the commercial banks’ foans to the public.
5 c. a fall in interest rates. 4. a decrease in the reserves of the commercial banks.

. The discount rate is the interest rate charged on
a. third-word countries. b. home mortgages.
Ca bank’s loans from the Central Bank, d. loans that have been renewed.

‘ 7:}{: of the above.
@z\ taxes decrease by $30 and the MPS is. 10, then
: . planned consumption spending will increase by $28.  b. planned saving will decrease by $3.

-4 planned saving will increase by $27. 4. the income level will increase by $270.
fthe income level will increase by $30.

25 A balanced budget cccurs when the government’s
a. expenditures exceeds 1ts tax revenues b. total debt equals zero
¢. expenditures are fess than its tax revenues @ expenditures equal its tax revenues

H- Exercice (10 pts)

Finish the table and 111l in the blanks (G = 0, T=0, X =M).
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“When a bank helps create-meney, it does so by
2 lending its excess reserves b, selling some of its invesiment securitics
c. printing more checks d. increasing its reserves

ominal GDP, PY, is $6 trillion. The quantity of money is $2 trillion. Velocity is:

a.12 b. 6 trillion c.2 @;3
w‘ The smaller the required reserve ration,
a. the smaller M1 is refative to M2 /g\ None of the above
c. the larger the deposit multiplier U the syaller the deposit multiphier

; ’Ihe relationship between the margimal propensities to consume and to save holds that:

a. jtheir sum must equal 1, since some fraction of marginal income must go 1o extra consumption spending and the
remaining fraction to extra saving.

. the point at which they are equal must be the break-even level of income.

the ratio between them must indicate the average propensity to consume.

. their total must equal 0.

their total must indicate the current total of disposable income received, since D/ must divide between consumption and

saving.

oo o

2. Which of the following increases the multiplier?
a. An increase in the marginal tax rate
An increase in the marginal propensity to consume
¢. An increase in the marginal propensity to import
d. An increase in the marginal propensity to save

¢ 3. During economic contractions, output
a. rises, but unemployment falls
b. and unemployment stagnate and both remain constant
€3 and unemployment both fall
d. falls, but unemployment rises
¢. and unemployment both rise

’,/;4. A budgetary surphus
0\ a. means government expenditures are greater than total revenues coliected.
. b. means none of the above. .
c. may have to be reduced 1o correct for unemployment,
d. should be incurred to cosrect for a recession.

(':é‘} will cause national income to increase.

lump-sum taxes by $10 billien, the 4D curve
. shifts lefiward by $90 billion b. shifts rightward by $100 billion
(2 oes not shift d. shifts rightward by $10 billion

0& In an economy with no income taxes nor imposts, if the government increases its purchases by $10 billion and increases its

7 In the simplest Keynesian model with only consumption and investment contributing to aggregate demand, if the value of
the marginal propensity.lo consume is 0.8, then the value of the multiplier must be:
a 0.5, é}ao ¢ 1.6. d.4.0 ¢. 2.8.

$ @ Deposits ¢. Securities d. Reserves

1o decrease the money supply the monetary authorities could

A, iNCrease reserve requirements. b. sell government securities on the open market.
c. increase the discount rate. d. make fewer loans to cormmercial banks.

@. all of the above.
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